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Question No.1

TS HETHTUT SN o Ui b1 IGTERU -7 82
TS HETHTOT ANy S JUf T SGTeRUT HIH-TT 872
(A) O Y (Chosen option)

Y
(B) O g (Correct Answer)

g
©)O0 7

Eil
0O &

Q

Question No.2

‘Designation(@'ﬁ;l"?l’-‘l]’f)’ o1 &l yufg DT %?
‘Designation(SfRMY 7 &<t gafg HF-a1 82
(A) O wfafgfaa

PIRIERIES]

(B) O UGHTH (Correct Answer)
g™

(C) O 7idaT (Chosen option)
Tdg

(D) O sfftiped
BT

Question No.3

“H XY BT 2T GO UfSAT §, Afb1 73 B! 71" — T8 Sf [l PR Bl 82
& T BT geT gon ufgan g, Afe1 T3 Bap! 7d 1" — g 3 for TR 1 82
(A) O ﬁ (Chosen option)

() O wgred! aaf
Hered! aHf

(€©) O gdaia Hurdt fRrem
Theid Audt fARran

(D) O ywdR URT (Correct Answer)
iR Ut

Question No.4

I WG BT dvGd T T 82
FIRIAY WG BT dvGd T T 82
(A) O Idg™R
HdgR
(B) O Waws (Correct Answer)
RGRIES

(C) O TR (Chosen option)
B INT)

(D)O T
REF

Question No.5

3H BT ASTHTET DIH-T 82
3H P ISTHTHT HH-HY 272
(A) O DIhaRTHd
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©0 s O e

mforgd

(C) O 3rf¥rT (Correct Answer) (Chosen option)

(D) O divar
1Ll

Question No.6

“SIg 1 e =1 ks, Iq IR g a1’ — g Sl b [TIoR 31 82
“Sfe T Ua = YR, fd IR AfE waw 1 - g8 3 g TeR 31 82
(A) O g8y (Chosen option)

RSEEN
(B) O &ur

s
(C) O H=gUI (Correct Answer)

el
(D) O TREY

TRETY

Case Study -7to 9
3] ¢ Ueay, fAu T waral & Wt ware g -

TR: Uofare! oqaT 7 &) 7% o €1 & gofen iR TdgRTI aifde 3% dte Ueb 3= ot +ff St & R wew a7l e €1 59 a7 o) JHIS! ) el TR
3Ty AT &1 59 AUt GdeRT avf &1 39 GHS § $is HieT -Te] fHedl| & [a- & a1d 8, 37 WiAal & SR g8 ¥ 39 fEd & gdgrT avf T
FAERT I 1 o HHSR BiiT & SR a1 B goeil 37 o1 RS Horgd s+t el 81 e fawmr ovw F 10T Ot & <RI 99 Sfiehfiies shifd & wry
i Sfficd T ST | S0P Yd HYA I 1 DIs 3iqeTd e (Herdl | yfAe Yiiardt guret # Hegwart # g gug wffiferd fd o1 9o § - ugar, 8ic &
B8 € AfebT e et & b A 307 b1 ¥ AoTed! WR HiHep! 1 7@ | 39 ORE 37 (od Joi GH A Y g

Question No.7

I o < B fh-fr anif T Ieaia 82
I o | < B fp-fan anif o1 Ieera B2
(A) O FHad T &1
Had o3 BT
(B) O FHad YdgRT &1
FHad AR BT
(C) O FHad A& aif BT
FHad 7 I BT

(D) O gefam, GdgRT, 7ed aif a7 UE ol 3T BT (Correct Answer) (Chosen option)
3T, FIERT, 7 7 auT Ug) g &1

Question No.8

e vl 1 3faer 19 of 9 ¥ gd 7 e g2
forg vl 1 sfaer 19 df et @ gd 761 fireran 82
(A) O gofanaif &1
3T T BT
(B) O wdgrI Tl &t
BERREUED]
(C) O weg ol T (Correct Answer) (Chosen option)
ey T BT
(D) O 31T qUT YAGRT I BT
3T YT GIGRT ¥l BT

Question No.9

B AR fopToh TH BId 872
B AR fopTeh THH B0 872
(A) O golemaifad

M &

(B) O |dgRT @ & (Correct Answer) (Chosen option)
HdgRT a7 &

(©)O wmai®
AT &

(D) O fr=<tP guE 7Y
gt & gae et
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3T TR UTI ST - TaTaR &1 31ef &1 82
3T TR U STEAT - GeTaR T 31 . 82
(A) O mrsT ffre™@T (Correct Answer) (Chosen option)
FTST firern
(B) O SMmT gl
ST T
(C) O Jdd &R & &1 o
eld &R Bl &1 o
(D) O F& WA T &
FERUGEE kT

Question No.11

o1 3y e Tier el Ju gar u?
Fo1 fay i wmiem Fel Jud gsim u1?
(A) O uré g3 (@)
U1 qs (A=)
(B) O 2 faweit (YRd) (Chosen option)
T el (uRa)
(C) O UK it WA (Afarg)
e 3ifs W (Bfers)
(D) O we (f3é) (Correct Answer)
wed (free)

Question No.12

FEATH & IUIHR B 52

FCAA F SUUHR D 82

(A) O ggar mf (Chosen option)
agan Tl

(B) O #3dt Yot (Correct Answer)
ft qear

(C) O = Is
ol A5

(D) O It firdaar
31 fidaan

Question No.13

3T’ b1 faeiH Teg T 27
3Teliep’ b1 faeH Tsg T 32
(A) O Ve

SIKIca

(B) O @i (Chosen option)
IEd

(C) O fafiR (Correct Answer)
faftr

(D) O vl
EINIC

Question No.14

‘=g o & FA T 17 — T8 o UPR HT a1 82
=g ol B FT A 81 - T8 [ UhR &1 a1 82
(A) O faymarE® ar
[EEIRCIECCICx
(B) O yyars are
Usfared I
(C) O dhaarae aidd (Chosen option)
Yhaarad arag

(D) O fASear® arey (Correct Answer)
Ftars a

Question No.15
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TSP T Tﬁ?f%? m EXAM PREP
(A) O Fftu & F=Ied (Correct Answer)

Fata fFf Fezmea

(B) O YRt HTST TR (Chosen option)
YR HTST SR

(C) O yspeH faurT
UHIRM faHmT

(D) O urfg 3fewpIgH!
e fpIcH!

Question No.16

TTH Y BIF-91 Weg YT T qAiFaTE Vg Tl 32
T8 | BIF-4T eg JUMT BT qATTATE Weg Tl 82
(A) O ga

NG
(B) O faam™

e
(C) O @rg (Correct Answer)

lq
(D) O "= (Chosen option)

ey

Question No.17

T HETHTOT 37y S quf T IETERT HIH-4T 872
T AGTHTOT SreS o Ul BT ISTeRl HIF-9T 872
(A) O ¢

g
B)O Y

Y
(C) O g (Correct Answer) (Chosen option)

)
DO w

g

Question No.18

3TN Teg T HH-T1 U 32
3N Teg H P H-T1 U 32
(A) O anfds
s
B)O &
2
(C) O 3@ (Correct Answer) (Chosen option)
TF
(D) O 3remH
SHTH

Question No.19

A6 TR IGT - GeTar T 312 &1 82
AIH R G - HeTar BT 37 1 g2
(A) O Ur&ct T
PICEHEHIE)
(B) O o1 &&d ¥&T (Correct Answer) (Chosen option)
T S@d TET
(C)O GU AT
KRl
(D) O IUe HAT
JUE BT

Question No.20

TIHIRS fbg HIWT Bt 1 82
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(A) O Afdrelt EXAM PREP
ARYH

(B) O WII&Ielt (Chosen option)
Wt

(C) O 39y (Correct Answer)
YR

(D) O wEh
LG

Question No.21

oY Y7o Faremlf gRT HuTfed uE T A R g2
ORI R faemf gRT Tufed uF &1 A1 &1 82
(A) O EI:TEI

diq
(B) O Hddrdl (Chosen option)

HddTedl
(C) O UdrU (Correct Answer)

Udrg
DO g

£

Question No.22

TS T TR GHS! 7 TRr— 39 Adbiiad BT oief &1 52
TS O IR GHS! 7 S— 39 Aabifad o1 32 &1 g2
(A) O =W B &
T 1T B S
(B) O E@T-rﬂv_u[ﬂ'eﬁm (Correct Answer)
9§d S AT
(C) O TTerd & q HHTS
TAd &7 S
(D) O T[ERTE =T (Chosen option)
TSRSl BT

Question No.23

ST T W BT B2
T TCRT Xeq HIF-1 32
(A) O TR
TR
(B) O FnreH
R
(C) O YfraT (Correct Answer) (Chosen option)
ECal
(D) O wgam
RERIL

Question No.24

“GHIA: HA 59 GaD BT [aHET ST 17 — 59 a1 B b1 b sh1et T sl T e 82
“GHIA: HA 5T GD BT [aH=aT ST 1" — S a1 B o1 ford sh1et T sty T & 82
(A) O TSI YA (Correct Answer) (Chosen option)

HHTT Hiawq
(B) O 9=y Hfdwq

= Yigsq
(C) O wr= ay

R Yd
(D) O aquf gdm=

3fquf aaEE

Question No.25

o dfe an for dfckral & T 2rea) a1 araaiel 1 Sgf 81 i S § 3R §1 o) 961 HIF-T SIAPR Fiell 82
forg difad o o dfdaat o Smmmies Treal a1 aTedi=il & omgfa 81 uRg o & 3R 81 ff 9@l & IF-91 (cdR gial 872
(A) O QTeTIYTH 36PN (Correct Answer) (Chosen option)
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(B) O AN 3ihR EXAM PREP
JATII 3TIPR
(C) O JIHIIIN ABR
SRR TR
(D) O YIIuN bR
YITI 3ABPR
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Question No.26

0 Q BH-7 Weg “HTT Wog, T 31 T 872
0 q PI-1 Teg “HIT’ Yog, BT 37 el 87
A)O R

w
(B) O faR

foar

(C) O =H® (Correct Answer) (Chosen option)
JHD

(D) O ggr
Yl

Question No.27

gRaTe Teg H $IF-11 Iuw 82
IRATE Teg § HH-T1 ITEH 2
(A) O $ (Correct Answer) (Chosen option)

(B) O ux
Ly
(©)O drg
diq
D)0 W
w

Question No.28

T ferrl & T § SR R ¥ IARd §17 aTdt i BT 3afR Bl 2 A 98T B9 PR B 32
o1 dfdaal & v €t SR RIF ¥ I=Rd 811 aTa Uit 31 31 8t 8 O d8T SH-T SAHR gial 82
(A) O JArUN 3ihR

JATIIY 3cibR
(B) O YITUN 3P (Correct Answer)

YIIUTH PR
(C) O dARTUN 3fcihR

RICREISRCREIN
(D) O W&HHUN 3ABR (Chosen option)

BRI HTHR

Question No.29

&t It ATl Xeg HH-TT 82
TEt gt ATl Xeg HH-TT1 82
(A) O &R

PR

(B) O wmrafayd (Correct Answer) (Chosen option)
Uil

(€) O wriTa
Friaa

(D) O Friar™
EauIE]

Question No.30

TR &7 9el -3 T Pa-ar g2

TGURIGr &1 9et G- " pH-a1e?

(A) O TR+TRIGU (Chosen option)
TRHATRIGU

(B) O wi+gur
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T+

(C) O W+RIgU
TWHTRIG

(D) O @ f+3MRIUT (Correct Answer)
T+ SRIEOT
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Question No.31

S <8 UM A & — 39 I & U 9l Wed 141 872
N & UM 1Y BF — 59 G & oY I Weg HIH-A1 72
(A) O 3ifdo==

3ifdre

(B) O 337&& (Correct Answer) (Chosen option)

(C) O yH®
YD

(D) O Sfige
Shiae

Question No.32

TR 3R & o I A=3U1” — 39 9190 | HH-1 DR 872
TR G & o I =3U 1" — 39 9190 | HH-91 PRSP 872
(A) O 3MUIeH HRP
3UIGH HRP
(B) O UdY dR&H
TaY PR
(C) O 3HfyHU HRF
JHfIHI HREB
(D) O dUEH HRS (Correct Answer) (Chosen option)
AU PRSP

Question No.33

(A) O =AY 3THR
Y STBHR
(B) O apifdd 3ddR
Tohifad STPR
(C) O gH® 3P (Correct Answer) (Chosen option)
IHSD AADR
(D) O 3y 3fcibR
ST 3TBR

o dfckrall & U Weq a1 sz THE 3 IR 1T g ST 314 U IR il 81 ol T8 P-4 S(APR gl 62
o dfeell B Ues 2Tea 7 Xeg TG 31 IR 1T g 31 o e IR et 1 Y 98T HH-I1 SdbR gidl 872

Question No.34

“QIIG 37T 31U SUTe] o & 17 - 39 a1 H SuTer fohd bR &7 faRiwor g2
QG 37T 31U STET ¥ B 1” - 39 a1 H *wurer fobd YR o1 fI2iwor 272
(A) O gt fagmor

graiHe fagmor
(B) O Turarae fa=INul (Chosen option)

TUraTae TRy
(C) O Temmars fagmu

TRemarEs fagmo
(D) O ufewTorara® fa=wor (Correct Answer)

gf¥HTuTaTE® fagivor

Question No.35

T SR-IR T T 21" 39 a1 IR frd UeR &1 it 82
“AohT IR-9R Td W8 17 39 91 § eR-Y f5g yeR o1 fhanfagivor g2
(A) O wradres fearfagsr

CANCIECAERIERLIL]
(B) O ufvwrurareres foamfasm

RATERS fharaRiyor

(C) O difearae fFATfIRTT (Correct Answer) (Chosen option)
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(D) O wyHaTEe feranfaRmo EXAM PREP
YHITES foranfage

Question No.36

BYTT g T HIH-I1 TAN 32
YT g F HH-I1 TAN 32
(A) O 3rogdiyre g
ST TH
(B) O YRy gAY
FHYRY JH
(C) O g7 W™ (Correct Answer)
& wume
(D) O gsiifg AN (Chosen option)
Ay

Question No.37

3 3R faw Hfa & forg {5 Wit srepreHt RER ure gan?
3 3R faw Ffa & fore fog Tt srpreH REwR urea gane
(A) O T Agdl B
R WG D
(B) O 3rqadrd AR @I (Correct Answer) (Chosen option)
SAATd AR HI
(C) O yHdR YR &
IR YReRt B
(D) O ==K sIgR R &I
R BTG g B

Question No.38

g T B1 WG &1 g1 872
g I9 BT WrtHTE 18I 872
(A) O

NG

B)O g
g
(C) O =fa
M

(D) O w1 (Correct Answer) (Chosen option)
Py

Question No.39

‘YTUT X BT dvGd T T 82
‘YTUT TG BT deGd T T 8?
(A) O 914G+ (Correct Answer)
|raq
(B) O @&t
EIGE]

(C) O T
BIGE]

(D) O dur (Chosen option)
4quy

Question No.40

HARCT B IO Bt HIST HIH-T 82

FHEREN S FIORH BT U - 82

(A) O \YTFHSI (Correct Answer) (Chosen option)
AYFHS

(B) O nfdyelt
Afdreh

(€) O @t
gt

D) O 3w
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Question No.1

The STOP sign in the road side will be in .
TEH & [k BT STOP &1 Wl g o gl
(A) O Square shape

FMHR

(B) O Octagonal shape (Correct Answer)
PR
(C) O Circular shape (Chosen option)
ESIEIR
(D) O Triangle shape
[EREIEIN

Question No.2

Who has been elected as the Chairman of the 'Parliament Committee on Official Language' from time to time based on convention?
RO} & SMYR TR THI-THI TR HICIT TS Gfer & sieaer & &0 & 59 g1 a1 82
(A) O The Prime Minister

PUIGEE]

(B) O Union Minister of Home Affairs (Correct Answer) (Chosen option)
Ferg g WA

(C) O Speaker of Lok Sabha
TANDYHT 3ehE

(D) O Union Minister of Culture

R CEE)

Question No.3

Who appoints the Chief Electoral Officer?
7 Fafem e ) fgfaa &1 svar 82
(A) O Union Minister of Law and Justice
FE HT SR = Tt
(B) O Governor of the state
T & It
(C) O President of India (Chosen option)
HRA & I _Ufd
(D) O Election Commission of India (Correct Answer)
yRd fatas smarT

Question No.4
Who was the first Portuguese to arrive in India?
YRA & M aTaT Uga Yot Hi uT?
(A) O Pedro Alvares Cabral
Ul SRy
(B) O Zamorin
SRA

(C) O Francisco De Almeida
i

(D) O Vasco Da Gama (Correct Answer) (Chosen option)
& e

Question No.5

Who among the following is the ex- officio District Registrar at district level?

T R W U forar doias BIargl
(A) O Tehsildar (Chosen option)

(B) O Registration Officer
Uoli SHfIHRY
(C) O Revenue Inspector

RERCARRAES
(D) O District Collector (Correct Answer)
forem TaTe

Question No.6
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How many districts are there in Uttar Pradesh for administrative convenience? BYJ U 'S
TR A & forg IR uewr # foran foret 82 m

EXAM PREP
(A) O 75 (Correct Answer) (Chosen option)
75

(B) O 80
80
(C)O 90
90
(D) O 100
100

Question No.7
Diatoms are an example of .
SgeH (fGuRA), 1 IR B |
(A) O Algae (Correct Answer) (Chosen option)
ara

(B) O Bacteria
(C) O Virus

(D) O Fungus
Ddh

Question No.8

How many languages are there in the 8th schedule of the Indian Constitution?
YR Tfaym ot adf st & forait Homd 82
(A) O 24 languages
24 HTYTY
(B) O 14 languages
14 HTSTY
(C) O 18 languages
18 HTNTY
(D) O 22 languages (Correct Answer) (Chosen option)
22 HTYTY

Question No.9

Which among the following is the fifth state of matter?
frafafad & 9 e 3 ufadt s/ siH-t 32
(A) O Supersolid

3 1

(B) O Bose-Einstein Condensate (BEC) (Correct Answer)
S STEEeTE Hue (L)

(C) O Plasma (Chosen option)
WA (GTSHT)

(D) O Liquid
GRS

Question No.10

A person can file a Public Interest litigation in the Supreme Court under Article of the Constitution of India.
FIs Hf AT WRa & Wfdu= & ¥ TEd IAqw =AraTery § Sfed AT GRR FR Hahdl 5
(A) O Atrticle 136
37 " 136
(B) O Atrticle 131
37 T 131
(C) O Article 134
37 T 134
(D) O Article 32 (Correct Answer) (Chosen option)
3q g 32

Question No.11

is a type of software developed with an intention to damage hardware devices, steal data, or cause any other trouble to the user.

TS UHR FT VIUCITR § Nl STSIIR IUFRU Bl THuH Uga, el TR} &= 1 ST Bl el 3 adis & TRRIH &7 & 1S 3 faiepf
(A) O Antivirus

(B) O Malware (Correct Answer) (Chosen option)
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(D) O Firewall
HrRAId
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Question No.12

Which of the following Articles of the Indian Constitution empowers the State to make any special provision for the advancement of scheduled cast
YRA & IRYF T o/ g o9 B Y[ Sfa &t I F e Ay wraem o= &1 SfeR Sar |
(A) O Article 15(2)
37 T 15(2)
(B) O Atrticle 15(3)
3 T 15(3)
(C) O Article 15(1)
37 "G 15(1)
(D) O Article 15(4) (Correct Answer) (Chosen option)
37 g 15(4)

Question No.13

The Five Judge Bench of the Supreme Court of India considered the effect of delay in execution of death sentence in the case of

% A H YR & IdH TR Bt Ut iR &1 die 3 g 31 9o & e # g1 ara fads & gue W AR e '
(A) O Surja Ram v. State of Rajasthan

RS TH §A1TH TR I
(B) O Sher Singh v. State of Punjab (Chosen option)
3R Rig &I doTTd I
(C) O Vatheeswaran v. State of Tamil Nadu
AW TG o
(D) O Triveniben v. State of Gujarat (Correct Answer)
ITH ORI I

Question No.14

Which among the following Acts regulates the procedure related to the removal of a Judge of the Supreme Court by the process of impeachment?
frofofed 8 O eH-a1 siifom, TehEeT 3 uiosan §R1 Swad ATy & rndie & gem ¥ et ufrar & fafd swar g2
(A) O Judges (Inquiry) Act of 1968 (Correct Answer) (Chosen option)
=grarefi=r (i) Srférferaw, 1968
(B) O Indian Law Reports Act of 1875
1875 H1 YR HIA KA siffam
(C) O Code of Civil Procedure of 1908
1908 &1 Rfaat wfsran wfgan

(D) O Special Criminal Courts Jurisdiction Act of 1950
1950 1 faRIY SHTORTIYS =TT

Question No.15

Which among the following diseases is commonly known as 'Lockjaw'?
frofafad Jm & | {58 oy (Lockjaw) % 1 | ST ST 82
(A) O Tetanus (Correct Answer)

Cra |

(B) O Gonorrhoea
(C) O Syphilis (Chosen option)

SUa
(D) O Cholera

Question No.16

Section 19 of the Prevention of Corruption Act, 1988 provides that is required for prosecuting a public servant on charges o
YPTAR aRuT Ao, 1988 B 4RT 19 T Uray™ § & Ryd a7 & SRIu § farddt s Yo IR GehaHT Ia™ & forg P AR

(A) O previous sanction (Correct Answer)

(B) O no sanction

(C) O prior intimation (Chosen option)
ESECRl

(D) O subsequent consent

Question No.17
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Who is empowered to direct that an act of Parliament does not apply to a scheduled area in a state or apply with spemflgf@Bg@Xﬁ,{a S
ford e fe=r 37 &1 SifiipR B b Tre 1w i forsht g o Srgferd &7 R Ay et ghan € ar Ay Wit oiR & i o] giell
(A) O Chief Minister of the state

I & i

(B) O Union Minister of Home Affairs
CERRICRE

(C) O Governor of the state (Correct Answer) (Chosen option)
I & T

(D) O Chief Justice of High Court of the state
A & I IR & G- AR

Question No.18

Which committee identified the existence of legal provisions for the implementation of some of the Fundamental Duties?
F© NP B b HRGIA P T B WGl & T 31 ugdH HIH-3 9fa 3 ot e
(A) O SP Talwar Committee
T4 defaR wfdfd
(B) O RV Gupta Committee
SR, A T i
(C) O Raja Chelliah Committee
e 2Aferar giAf

(D) O Verma Committee (Correct Answer) (Chosen option)

Question No.19

India attended a Senior Officials Meeting (SOM) of BIMSTEC under the chairmanship of which country?
URA A {50 32 1 sregera & famaess & aRky el &1 96w (s & y ferm?
(A) O Bangladesh

IRTTGR

(B) O Nepal (Chosen option)
BRI
(C) O Bhutan

™
(D) O Sri Lanka (Correct Answer)
EISEa

Question No.20

Which of the following is an offence which is punishable in four stages?
fofafed & 3 SH-91 T Ry B, R IR RO § <= AT T 82
(A) O Dacoity (Correct Answer)

St

(B) O Rape
ERISIR

(C) O Robbery
YCHR

(D) O Murder (Chosen option)
gl

Question No.21

"LENS STUDIQ" is the feature of which of the following applications?
o fea fafafead o 9 few uferseE ot faRivdr (wieR) 82
(A) O B612

B612

(B) O Youcam

(C) O Snapchat (Correct Answer)
|ude

(D) O Instagram (Chosen option)
LN

Question No.22

The second stage of demographlc transition model is characterized by
SIS YHHUT ATSd & gaR R0l &Y fA=IvdT o1 g2
(A) O High Birth Rate and High Death Rate
S I & IR IE Y R
(B) O Low Birth Rate and High Death Rate

https://upprpbcivil.onlineregistrationform.org/QP2/YN1TvB0+vVXzFn+7EilEAw==.html| 12/40
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P o R AR ITTI R EBYJU'S
(C) O High Birth Rate and Low Death Rate (Correct Answer) EXAM PREP
SE T R IR g R
(D) O Low Birth Rate and Low Death Rate (Chosen option)
faT R ®R

Question No.23

Which of the following is a cropping season that is suitable to grow watermelon and muskmelon?
TR 3R TREST I & fore Fafafd & F -9 T=1 Jm Juged 872
(A) O Winter

(B) O Kharif (Chosen option)
e

(C) O Rabi
Rl

(D) O Zaid (Correct Answer)
SIR

Question No.24

Which among the following veto powers is not vested upon the President of India?
HRA & I1_Tfd &I Fafafed FeuieR! (@ie) wfem) 3 8 sniieie IR W SH-91 781 faar w1 52
(A) O Absolute veto

(B) O Qualified veto (Correct Answer) (Chosen option)
FuiteR

(C) O Suspensive veto

(D) O Pocket veto
ECIRCICIA AR BIRED

Question No.25

Shri Banke Bihari Temple is located in which of the following districts of Uttar Pradesh?
ot 97 fogrt HfeR IW vew & Fafared § § fow R & fRd g2
(A) O Varanasi

CIRR)

(B) O Prayagraj
YIRS
(C) O Agra
SIRT
(D) O Mathura (Correct Answer) (Chosen option)

k-

Question No.26

Which planet is regarded as the Water Planet?
9 g &I JA-3g AT 9Tl 82
(A) O Venus
Ricg
(B) O Mars (Chosen option)
HTA
(C) O Earth (Correct Answer)
et
(D) O Mercury
g4

Question No.27

Which among the following is an example for 'Indirect Tax'?
A "I B BT IGTERUN HIH-91 82
(A) O Customs Duty (Correct Answer)
T Jeh
(B) O Property tax
BEISER
(C) O Income Tax
3T PR
(D) O Corporate Tax (Chosen option)
HIURET B

https://upprpbcivil.onlineregistrationform.org/QP2/YN1TvB0+vVXzFn+7EilEAw==.html|

13/40



12/10/21, 3:16 PM View Question Paper

Question No.28 m BYJ U.S

EXAM PREP
According to section 11 of the National Security Act the Advisory Board shall submit its report to the appropriate government within weeks
concerned was detained.

31 Ta GR&M SHTUFGH BT YRT 11 B SR, Heiferd safd &1 fexrrd # o 1 fafy & TTg & iR, GARHR SIS HI 30T e (RUic) Iug
(A) O seven (Correct Answer) (Chosen option)
|rd
(B) O six
Be
(C) O twelve
IRE
(D) O ten
23l

Question No.29

The Supreme Court held that the principles of 'strict liability' and 'polluter pays' are applicable to the hazardous and inherently dangerous activity c:
case of

A AT 7 F U § I8 A % HoR i 3R Mg Y & Rigid shenfie gomeal gRT i 70 Sifem R 3R &
(A) O State of Kerala v. N.M. Thomas
D Y S TH.TH. YiFg
(B) O Centre for Public Interest Litigation v. Union of India (Chosen option)
TR BR Ui $eXRC Al IR S YR 69
(C) O Banwasi Seva Ashram v. State of Uttar Pradesh
AT T SMTHH T IR U= I

(D) O Indian Council For Enviro-Legal Action v. Union of India (Correct Answer)
BIR TAATS-ANTS TaRIA §91H HRd HY

Question No.30

Which of the foIIowmg principles calls the member countries to treat all nations on equal footing in the policies concerning import and export of goo

fafafad # 3 PH-a1 Rigid Ard 3R Jarsit & mard 3R Frafd 3 Fefd Hfaal § gt 32 & Iy IHH TdeR 7 & ol e ST &1 3MEH a4
(A) O Payment of Fair Price

I Hed BT YT
(B) O Safe Working Condition

QRfad Sl &=
(C) O Freedom of Association (Chosen option)

REEARSRERI
(D) O Most Fayoured Nation (Correct Answer)

T

~

Question No.31

On behalf of the Indian National Congress, who declared that 'the Constitution of free India must be framed without outside interference by a Cons

YR T T B B SR Y fora Do &t ot o e YRd & Wfau &Y Wy gy gRT 51 9168 g8y & duR s s anfee?
(A) O Motilal Nehru

(B) O Jawaharlal Nehru (Correct Answer)
ATER 1 g%

(C) O Vallabhbhai Patel (Chosen option)
JEAHHTS Ted

(D) O KM Munshi

. QA Tt

Question No.32

The Right to sleep is an integral part of right to life, as guaranteed under Article.21 of the Constitution of India in the case of .
T BT PR, Sfia & SfABR &1 U A= 31 8, o F A B URA & WAYH & o g 21 & dgd TREIGHd foa T B
(A) O D. S. Nakara & others v. Union of India

2. T, A 3R 3 T YR
(B) O Olga Tellis v. Bombay Municipal Corporation

oferg 999 afe TR R

(C) O Re- Ramlila Maidan Incident v. Home Secretary and others (Correct Answer)

HTAE A P ge1 99 T8 Jia R 3=
(D) O Gopalan v. State of Madras (Chosen option)

TUTe SHH S I

Question No.33

What is the maximum possible strength for a Legislative Assembly of a state in India?

YRA T fpelt Irg @t Ay au1 & e siftiras Sua Jewt (i) o) wve o1 32
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(B) O 400 seats
400 ¢
(C) O 500 seats (Correct Answer)
500 31

(D) O 550 seats (Chosen option)
550 ¢

Question No.34

The provision of the Constitution of India that provides that no tax shall be levied or collected except by authority of law is
UYRA & WY & g o " g & g8 Wiay™ ¢ 5, fafdr & uiieR & fam 1S &= =781 v smem o Sogia =16t fasan Sem?
(A) O Article 268-A

3] "G 268-A
(B) O Atrticle 264

3] T 264
(C) O Article 265 (Correct Answer) (Chosen option)

3 g 265
(D) O Article 268

3] @268

Question No.35

of Information Technology Act deals with Child pornography.

T Mt gy ot T ST 0T (TS AR S Gafid |
(A) O Section 66 B (Chosen option)

YIRT1 66 B
(B) O Section 67 B (Correct Answer)

YRT67 B
(C) O Section 62 A

YRT62 A
(D) O Section 65 A

YRT 65 A

Question No.36

Which of the following Articles of the Constitution of India, deals with the suits by or against the Government of India?
UYRA & HfAy™ &7 FEfied § § H-91 o g YR WHR & gRI T 396 &A1 T T gaoved & Hafid g2
(A) O Article 298
3] T 298
(B) O Atrticle 302
3] " T 302
(C) O Article 300 (Correct Answer)
39 "G 300
(D) O Atrticle 304 (Chosen option)
3] @304

Question No.37

When was the 15t Informal summit held between India & China?
HRA 3R T F g v SR RReR TieH oa AT fpar ma ur?
(A) O 2015
2015
(B) O 2014 (Chosen option)
2014
(C) O 2018 (Correct Answer)
2018
(D) O 2019
2019

Question No.38

In which year was the Royal Commission on Decentralisation appointed under the Chairmanship of Hobhouse?
SIIEISY B AL S ded [APbeIBRU R ATe HHRE RIae SHRH 3 fEdcdrmasH) & g oy # figed far mr ur?
(A) O 1909
1909
(B) O 1911
1911

(C) O 1905 (Chosen option)
1905
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Question No.39

In which year was the National Commission for Backward Classes established by the act of Parliament?
e & iffan gR1 1 T st o o &t wiroe e o & &6 1S <
(A) O 1995
1995
(B) O 1997
1997
(C) O 1993 (Correct Answer) (Chosen option)
1993

(D) O 1991
1991

Question No.40

Which Portuguese Governor captured Goa from the Sultan of Bijapur in 15107

1510 B g GeTref! =R A TSR & Geol™ P ORI B a1 R Heall R ferdT?

(A) O Francisco De Almeida
iRk St

(B) O Nino Da Cunha
RIS
(C) O Alfonso De Albuquerque (Correct Answer)
ey ;

(D) O Vasco Da Gama (Chosen option)
SR

NUMERICAL AND MENTAL ABILITY TEST - NUMERICAL AND MENTAL ABILITY TEST

Question No.1

A shopkeeper sold an article for Rs.1000 and earned some profit. By selling the article for Rs.325 he incurred a loss equal to 14 times of the profit
40% then at what price should he sell the article? (In Rs.)
TH GHMGER Rs.1000 H U a¥g 991 § 3R $& A HAM ¢ | ¥ BT Rs.325 T 99+ TR I Hfoid TTH F 14 TAT & SRISR 81 g3 1 (S T8 40% T
TR ST A1RE? (Rs. H)
(A) O 1537

1537

(B) O 1437 (Chosen option)
1437

(C) O 1337 (Correct Answer)
1337

(D) O 1637
1637

Question No.2

What will be written in the place of question mark in the given series?
B2Y25015D4?7

& A0 B vy Fg & WM W a1 foran sma?
B2Y25015D477

A)O |
|
B)O H
H
€O J
J

(D) O G (Correct Answer) (Chosen option)
G

Question No.3

A trader sells the article after two successive discounts of 24% and 25% respectively. If the marked price of the article is Rs.21500, find the selling
TS HATURY HH: 24% 3R 25% B &l HHNT Fe o P a1e U ¥ SadT ¢ | afe axg &1 3ifdhd Teg Rs.21500 B, I s Ieg F1d SIfvm| (Rs.H)
(A) O 12055

12055
(B) O 12155

12155
(C) O 11955

11955

(D) O 12255 (Correct Answer) (Chosen option)
12255
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Solve:

V(261-V(35-V(95+V25

V(261-V(35-V(95+Vv25

(A) O 14
14

(B)O 13
13

(C)O 15
15

(D) O 16 (Correct Answer) (Chosen option)
16

Question No.5

What is the digit in the units place of the number 125681527
TRSAT 12568152 H THTS VUM TR HIF-TT 3T T2
(A) O 6 (Correct Answer)

6

(B) O

(Chosen option)

4
4
(C©)O 5
5
D)O 3
3

Question No.6

What value should come in the place of question mark (?) in the following equation?
(0.010 + ?) + (0.008+0.08) - (0.05 = 0.5) =0.1
FrafaRad THiieRur & Uy g (?) & RIF IR SHF-91 U {1 918U?
(0.010 +?) + (0.008+0.08) - (0.05 = 0.5) =0.1
(A) O 0.001
0.001
(B) O 0.2
0.2
(C) O 0.0001 (Chosen option)
0.0001
(D) O 0.1 (Correct Answer)
0.1

Question No.7

Directions:
Study the following Bar-chart and the data provided to answer the questions that follow:
Sales of 3-different companies selling T-Shirts for the years from 2006 to 2009 are given.
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1400

1180

1200
1050 1080 =
1020
530 980
1000
890 860
BOO 740 £ Ll
600
400
200
1]
2006 2007 2008 2009
MiBrand X ®mBrandY Brand 7

feu T Uy %1 IW A F forw Fafafad ds-ema 3R fou U siiwe! o1 3req Hifo|
¥ 2006 F 2009 F o &= ST ATl 3-37eATT-31eRT Hufal o1 f9ep! <1 TS 3
2007 &t & H, 2009 B 51 X &t E-E Bt faest § fora vfr=ra Fft as?

1400

1180

1200
1080 e
1020 1050
990 930
1000
B90 860
T80 780
800 740
600
400
200
1}
2006 2007 2008 2008

EMBrand X ®BrandY Brand Z

(A) O 25.71% (Correct Answer) (Chosen option)
25.71%
(B) O 26.75%
26.75%
(C)O 1M111%
1.1%
(D) O 12.56%
12.56%

View Question Paper
How much percentage of sales decreased for Brand X T-shirt in 2009 compared with 2007?

BYJU'S

EXAM PREP

Question No.8

Directions:

1400

1180

1200
1080 4
1020 1050
990 980
1000
890 860
T80 780
800 740
600
400
200
o
2006 2007 2008 2008

MBrand X ®mBrandY Brand Z

ﬁm—ﬁ%’{l;
fau TTQ Uy &1 IR 7 & g Faferied de-ma 3R U U siiws! &1 3reqg Fifvu|
¥ 2006 F 2009 & T -2 I ATl 3-3rATT-31eT Uiyl Fi faep! & 78 B
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Study the following Bar-chart and the data provided to answer the questions that follow:
Sales of 3-different companies selling T-Shirts for the years from 2006 to 2009 are given.
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1400
1200 {180 1120
ggg 1020 1050 s ag0
1000 890 P
800 740 L 2
600
400
200
1]
2006 2007 2008 2008

MBrand X mBrandY Brand Z

(A) O 27.51% (Correct Answer) (Chosen option)
27.51%
(B) O 38.34%
38.34%
(C) O 52.54%
52.54%
(D) O 29.27%
29.27%

Question No.9
If a sum of Rs.21500 is lent at 40% per annum on compound interest, after how many years an amount of Rs.42140 will be obtained?
I Rs.21500 B T Y=RIT BT 40% AT Thafes ST &R TR IYR a1 S 8, A Rs.42140 H7 fysier fasa= auf & a1 e grm?
(A)O 4
4
B)O 8
8
(C) O 2 (Correct Answer) (Chosen option)
2

(D)O 6
6

Question No.10

Two vessels containing 35 litres and 47 litres quantity of solution, have milk and water in the ratio of 17:18 and 28:19 respectively. If the solutions ¢
many litres of water has to be added in the final solution to make the resulting solution in the ratio 1:1?

aaﬁﬂ‘fﬁss?ﬂaaﬁuﬁﬂamﬁguawtrﬁﬂaﬂ‘aﬁa%ﬁw SFUTA SHHRT: 17:18 3R 28:19 §1 A Y °Ya Y Uas A1y fAreman wiran &, & sifam
afey forad ufRome 9iet 1:1 & U | 817
(A) O 8 (Correct Answer) (Chosen option)

8

(B)O 10
10

(C)O 12
12

(D)O 6
6

Question No.11

The H.C.F. of the two numbers is 37 and the other two divisors of their Least Common Multiple are 21 and 23. Find the smallest number among th:
& TR BT AU, (HCF) 37 § 3R 3% TYTH THIGE (LCM) F &1 HIolb 21 3R 23 § 1 370 I qa BIeT W1 J1d HIoTg |
(A) O 527
527
(B) O 397
397
(C) O 777 (Correct Answer) (Chosen option)
777

(D) O 687
687

Question No.12

Today is Monday. Before 27 days, it was ?

TS WHAR g1 27 & ugd -9 fa ume

(A) O Tuesday (Correct Answer) (Chosen option)
WIAdR
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(B) O Thursday m BYJ U'S
T2dR EXAM PREP
(C) O Wednesday
gYIR
(D) O Friday
RPAR

Question No.13

Directions:

Study the following Bar-chart and the data provided to answer the questions that follow:

Sales of 3-different companies selling T-Shirts for the years from 2006 to 2009 are given.

What is the difference between half of the total sale of brand X T-Shirt and the total sale of brand Z T-Shirt?

1400

1180

1200
1080 e
1020 1050
990 980
1000
890 860
T80 780
800 740
600
400
200
1]
2006 2007 2008 2009
EMBrand X ®BrandY Brand Z

feu T Uy %1 IW T F forg el <s-3m 3R fou U siiws! &1 3ieq i
T8 2006 ¥ 2009 & fo1T - FTA ATl 3-37eT1-31aT Hufal o faspt & TS 31
E\Bxﬁ-&r&aﬁwﬁﬁ% 3T 3R 518 Z F-2E B Hd faeh! & &g BT SR 1 BT

(A) O 1725
1725
(B) O 2075
2075
(C) O 1525
1525

(D) O 1550 (Correct Answer) (Chosen option)
1550

Question No.14

Which of the following sets of signs should be used to replace * in the following?

13*2*6=30*2*5

frafaRad & * fogl &1 ufaiia w=a & fore fogt o Fafafea 3 3 fu ag=a o1 suanT fear s arfge?
13*2*6=30%2*5

(A) O ++x-

++ X -

B)O +-x=+

+ - X +
(C) O x-++ (Correct Answer) (Chosen option)
X -5+

(D) O +xx+

+ X X +

Question No.15

Rearrange the word in question and find the option opposite to the rearranged word.
RTECSE

9 Ty | U MU Teg Y gTAARRUd I 3R 39 TR 73T T Weg 3 fadm g &1 79 fadwed! & & S|
RTECSE
(A) O UNREVEALED
UNREVEALED
(B) O CONFIDENTIAL (Chosen option)
CONFIDENTIAL
(C) O PUBLIC (Correct Answer)
PUBLIC
(D) O UNKNOWN
UNKNOWN

Question No.16
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Replace the question mark with an option that follows the same logic applied in the first pair. EXAM PREP

SEND : 50 :: TEAK : ??
vy g #) 39 fawe @ wirenfia &% <t ugd 3w B AR ad &1 & SRER0T ST 3|
SEND : 50 :: TEAK: ??
(A) O 40
40
(B) O 50
50
(C) O 45 (Correct Answer) (Chosen option)
45

(D) O 37
37

Question No.17

Dinesh, Naga, and Naren enter into a partnership. Dinesh contributes one-third of the whole capital while Naga contributes as much as Dinesh anc
profit at the end of the year is Rs.1,05,000, how much would Naren receive? (In Rs.)
&1, AN SiR TR U ARt & of1d 71 faawy, Wqui gof &1 Uh-faeTs ahiTe &vdl § Safds A1 Sfavet ST ANTGH T @ foraT fegr $fiR =R T
Rs.1,05,000 T oTH BIdT §, dl TR & a1 ured gm? (Rs. H)
(A) O 25500
25500
(B) O 19500
19500
(C) O 17500 (Correct Answer) (Chosen option)
17500
(D) O 16500
16500

Question No.18

Find the next term in given series.
EXPECTATIONS, ECTATI, XPECTATION, CTAT, ?
@ < Joft & apTer Ug J1d ST
EXPECTATIONS, ECTATI, XPECTATION, CTAT, ?
(A) O ECTATIO
ECTATIO
(B) O PECTA
PECTA
(C) O PECTATIO (Correct Answer) (Chosen option)
PECTATIO
(D) O TATIO
TATIO

Case Study - 19 to 20
Directions: In the following questions, few statements are given and these statements are followed by two conclusions numbered i and ii. You hav
they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given conclusions logically follows frc
commonly known facts.

Choose,

(A) Only (i) conclusion follows
(B) Only (ii) conclusion follows
(C) Neither (i) nor (ii) follows
(D) Both (i) and (ii) follow

(E) Either (i) or (ii) follows

Question No.19

Statements:
Some reds are browns.
All browns are pinks.

Conclusions:

i) Some reds are pinks.
ii) No red is pink

DY:

FO I, W &

ot o¥, TTaelt § 1

fsp: .
i) T o, |
ii) BYS oTel, Terral T8 §

(A) O A (Correct Answer) (Chosen option)
A

B)O B
B

(O C
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Question No.20

Statements:

Some wheat are browns.
All browns are sugar.
Some sugar are whites.

Conclusions:
i) Some wheat are sugar.
ii) Some whites are browns.

DY

PO, WRE|
Tft o, = B
$o T, e B

o A

)P TgE, |

i) $& Tha, W

(A) O A (Correct Answer) (Chosen option)
A

(B) O
©) O

(D) O

o OO0 mw

Question No.21

The average weight of 271 fertilizer bags is 71 kgs. If the weight of the box (in which the fertilizer bags are kept) be included, the calculated averac
by 0.8 kg. What is the weight of the box? (In kg)

%71 Ba;a?éiﬁmahﬂaamﬂ kg €1 3¢ ST (e Ik o1 W ©) T o A fara S §, o Ufd Sk o1 & ufRepferd Sfird aoi § 0.8 ke
? (kg H)
(A) O 2148
214.8
(B) O 216.8 (Correct Answer)
216.8
(C) O 218.8 (Chosen option)
218.8

(D) O 2208
220.8

Case Study - 22 to 23

Directions: Study the following line graph carefully and answer the questions accordingly.
The graph gives the demand and production of mobile phones of five companies M, N, O, P and Q (in thousands).
50

M N o P Q
==g=Production b 30 45 35 30
=== Demand 35 A 40 45 20

g PrOQUCEION g Demand

Question No.22

The difference between the production and demand of mobile phones is minimum for which of the following companies?
frafiRed 3 9 o ot & Hiasd BIF & IdTe SR T & sid $ 3R G 82
(A)O N

N

B)O Q
Q

(C) O O (Correct Answer) (Chosen option)
o

D)o P
P
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The production of mobile phones of company M is approximately what percentage of its demand?
HUHT M & HST3d B BT ST, SHD! HIT &b T e Tfa=rd 872
(A) O 73.5%
73.5%
(B) O 71.5% (Correct Answer) (Chosen option)
71.5%
(C)O 78.5%
78.5%
(D) O 65.5%
65.5%

Question No.24

Replace the question mark with an option that follows the same logic applied in the first pair.
STERN : NRTES :: VAGUE : ??
vy fig 39 faweu A wforwnfia &3 <Y vgd g0 A AR ad &7 & SR Feat 21
STERN : NRTES :: VAGUE : ??
(A) O EUGAW
EUGAW
(B) O EUAVH
EUAVH
(C) O EVGAU
EVGAU

(D) O EUAGV (Correct Answer) (Chosen option)
EUAGV

Question No.25

Each question given below consists of a statement, followed by two arguments numbered | and Il. You have to decide which of the arguments is a
‘weak' argument.

Give answer:

(A) If only argument | is strong
(B) If only argument Il is strong
(C) If either 1 or Il is strong

(D) If neither I nor Il is strong and
(E) If both | and Il are strong.

Statement:
Should kids have homework?

Arguments:
I. Yes, kids can pass their exams only by doing homeworks.
1l. No, kids need time to relax and take their minds off studies.

I foU TU UAF Uy B U HUA 8, 3D a16 | 3R 11 S dh U T § 1 3ueh! I8 fFofa a1 § i SH-a1 b U Tea ad § 3R HIH-91 U gadl' dob

W?ﬁﬁm:

(A) TS Had ad | Yad &

(B) I Had ad || Y&d &
(C)afgarar i anvea g

(D) TR AT SRAE Il yea 8 3R
(E) Tf& 1 3R 11 S e B

DY
&1 5= &[G T (§1Haeh) B =eY?
ab:
1. g, o= $ad e (SHHTD) HRP & Ut Tlem il B gahd!
117, St Y 3IRTH A 3R UeTs I &I g & forg Jay =gl
(A) O A (Chosen option)
A
(B) O B (Correct Answer)

©O0

(D) O

OO mm W

Question No.26

A Shopkeeper purchased an article for Rs.10500 and sold it for a loss of 10%. From that money he purchased another article and sold it for a gain
loss? (In Rs.)

TP GHMCR Rs.10500 7 Ueh o] Wl & 3R SH 10% B! 81 IR 39d1 31 3 471 J I8 G a%] Wiledl & 3R I¥ 10% 1Y TR Sl & | AT H
(A) O 107 Gain
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(B) O 105 Loss (Correct Answer) (Chosen option) EXAM PREP
105 T

(C) O 103 Gain
103 oY

(D) O 101 Loss

101 g1

Question No.27

Find the curved surface area of the hemisphere (in cm?) whose radius is 50 cm and T = 3.14.

I IS &1 ah G &0 (cm? H) T HifoTe, foraas! a1 50 cm 8 3R = 3.14 B
(A) O 15400
15400

(B) O 15700 (Correct Answer) (Chosen option)
15700

(C) O 15600
15600

(D) O 15500
15500

Question No.28

The difference between two numbers is 3820. The quotient and remainder are respectively 32 and 7 when the larger number is divided by the smza
3 Tt & S BT 3R 3820 B 1 T TSt TS 1 DIt T J TIHIRTT fam e & o YT d T [uthd AT 32 3R 7 T 1 et I 1d FIfou|
(A) O 3643

3643
(B) O 3743

3743
(C) O 3843

3843

(D) O 3943 (Correct Answer) (Chosen option)
3943

Question No.29

In this question, a statement is given followed by two conclusions numbered i and ii. You have to assume everything in the statement to be true, th
together and decide which of them logically follows beyond a reasonable doubt from the information given in the statement.

Statement:
Barath leads a luxurious life.

Conclusions:
i) Barath may be rich.
ii) Barath is happy.”

Choose the appropriate one from the following options

(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

YUY, TP HYT & 915 &1 Fepy | 3R i f3T MU &1 et oy ot Tuf TRt &) T A1 7, R i Fepsf R U Wy faam a3 § SR fe
 freerd wo & & TE THER BT IR g W W difhd U Y ¥R B g

DHYA:

R U faenfrarguf shaw sitar g1

.

i) W 3R & JhaT 8

i) T G &

frafaRad fawedl § ¥ Iugad TP &1 99 Bifeg
(A) Faa ey | 3FTERUT BT §

(B) Fadt FIHY i SFEROT FHral

(C) TN A i T ii SATERVT BT &

(D) AN i 3R A ii STIRTT Bl § 3R

(E) i 3R ii QT SFTERUT Rt §

(A) O

B)0O
() O

D)O

(Correct Answer) (Chosen option)

>P> MM WW OO
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Question No.30 m EXAM PREP

M is thrice as efficient as workman as N and therefore is able to finish a job in 262 days less than N. Then in how many days can N finish the entire
M, N &1 gaT & i AT 31 H=d HRIR § 3R 9o forelt &l Y N & 262 HH A H R Aar g1 Y N, 59 R b &1 fbam 31 & gof sxeme
(A) O 393 (Correct Answer) (Chosen option)

393
(B) O 383

383
(C) O 363

363
(D) O 373

373

Question No.31

After walking 8km, a boy turned right and walked 9km. He then took a right turn and walked 13km. If he stood facing West direction finally, towards
8km?

TH ASHT 8km TA & F1E, NT TSl 8 3R 9km FeraT 81 foFR 98 1 g&a1 8 3IR 13km @l 81 AfE 98 Siad: ufdm f3zn ot ofik sfig@ 8, a5 ug
(A) O West
ufim

(B) O East (Correct Answer) (Chosen option)

(C) O North
IR
(D) O South
Gl

Question No.32

Nitin donates 19% of his savings to old age home, 19% of the savings to orphanage and 19% of his savings to foundations for medical help. The
savings is been deposited in bank. Find the salary of Nitin, if 80% of the salary is his savings amount. (In Rs.)
A oot ST BT 19% TGTHH BT, 19% SFTIIHH BT 3R 19% Fafehredia Heg & e TR &1 g HRaT 81 F9d H ¥ [ AR Rs. 12900 HY 98 b
80% ITH! FAd R 8, A STBT I 1d HIT| (Rs. H)
(A) O 30000

30000

(B) O 20000 (Chosen option)
20000

(C) O 37500 (Correct Answer)
37500

(D) O 27500
27500

Question No.33

Select the appropriate set of sequence of mathematical operators to replace all * sign in the following equation and hence to balance it.

50*4*9* 14

frafaraa wefiemwor & ¥ « fogl &) wfawiiig 3 iR 39 Wgfad a3 & o1 g YHRS! & SHH & UG Ty 61 98 Hiere|
50*4*9* 14

(A) O -x=(Correct Answer) (Chosen option)

-%X =

Question No.34

The amount doubles itself under Simple interest in 2.5 years. In how many years will it become 45 times of itself?
TP Y-RIRI TR TS & dgd 2.5 T8 B UH-317 BT SR 81 et 31 fobe= auf & 7g 31u=-319 &t 45 T[T 8) wmarit?
(A) O 105

105
(B) O 120

120
(C) O 110 (Correct Answer) (Chosen option)

110

(D) O 115
115

Question No.35
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Find the sum of the G.P.:
4/11, 4/121, 4/1331, 4/14641, ... to n terms.
2 718 TR Aol F1 AT F1d HifT

4/11, 41121, 4/1331, 4/14641, ... n US| 9%
(A) O 2/5(1-(1/11™) (Correct Answer) (Chosen option)
2/5(1-(1/11M))
B) O 3/7(1-(1/11M)
37(1-(1/117))
(C©) O 3/10(1-(1/11M)
3/10(1-(1/11M))
(D) O 3/5(1-(1/11M)
3/5(1-(1/11M)

Question No.36

A flight covers a distance between A and B in 31 hours. If the speed of the flight is reduced by 320 km/hr, then the same distance is covered in 36
and B. (In ki

m
Qﬁlﬁﬁnﬁm%?s%‘qﬁaﬁgﬁaﬁ 31 G2l & 7 Fxar ¢ | A faae &t ara &Y 320 kmvhr § T 301 e B, O I g Y 99 e B 36 6 @A B 1/
)
(A) O 71424 (Correct Answer) (Chosen option)
71424
(B) O 74424
74424
(C) O 73424
73424

(D) O 72424
72424

Question No.37

Choose the correct water image of the given image from the following options.

hOrizOnTal

Frafafad fdeed § 4 < 72 ©fd & T8t o ufafss o1 =g S|

.
(A) O |zl (Correct Answer) (Chosen option)

OLIANOLIRe])
1PLUOZlIOY
1BIUOZ|IOY

- POIIXQULPT
O1|3QU]DT
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Question No.38

m BYJU'S

If A drives from X to Y at 102 kmph and then from Y to X at 136 kmph, what is the average speed for the whole journey? (In kmph - upto two decin
TG A, X T Y T% 102 kmph BT 910 TUTY J X Tb 136 kmph Bt 16 I TS I 8, df ol amm & forg siad =ra fhat eFft? (kmph & - 1 339
(A) O 118.57

118.57
(B) O 114.57

114.57
(C) O 120.57

120.57

(D) O 116.57 (Correct Answer) (Chosen option)
116.57

Question No.39

A can finish a job in 142 days, B can finish the same job in 213 days and C can finish the same job in 284 days. If all three are working together, h

complete the same job?

AT BT BT 142 & B % Gaovelt 8, B I &1 &1 213 faAt & &= Wha 8 3R ¢ ST 1 Y 284 7 & I= Tohert 71 3 i wap-amy firetans avred

forem fet o1 ww @2

(A) O 63(7/13)
63(7/13)

(BY O 67(7/13)
67(7/13)

(C) O 69(7/13)
69(7/13)

(D) O 65(7/13) (Correct Answer) (Chosen option)
65(7/13)

Question No.40

Find the sum of all 3 digit numbers that leave a remainder of 4 when divided by 11.

37 1 3 3wl gl TEal T ANTh 1d BifeTe, R 11 J Ui $9 WR Avhd 4 AT R
(A) O 36952
36952

(B) O 44874
44874

(C) O 44977 (Correct Answer)
44977

(D) O 49562 (Chosen option)
49562

MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING - MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING

Question No.1

Which of the following numbers in the Venn Diagram represents only young farmers?
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10 O —Edarmers

(A) O 4 (Correct Answer) (Chosen option)
(B) O

©O

OO == WWw b

(D) O

Question No.2

Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
JL, QS, RU, MO, PR
frofofad o & 9 9R, te FfYd adid 3 te 9o € SR SUfT Ue THg o1 § | $HF-91 59 9g & Wefid el 872
JL, @S, RU, MO, PR
(A) O PR
PR
(B) O MO
MO
(C)O JdL
JL
(D) O RU (Correct Answer) (Chosen option)
RU

Question No.3

"Unnatural offences" is defined in which of the following sections of the Indian Penal Code?
YR <8 Afgar ot Fufafad & § frg ur1 & "srepfae sroxrel ot ufifa fosa mar g2
(A) O Section 173

YRT 173
(B) O Section 279

YRT 279
(C) O Section 377 (Correct Answer) (Chosen option)

YRT 377
(D) O Section 163

YRT 163

Question No.4

A girl starts at point A and walks 8km towards South, turns right and walks 7km; turns another left and walks 4km. She then takes a right turn and
She then walks 4km towards East and turns left and walks 14km to reach B. How far is A from B?

TS TSH] g A T T SR PRl § SR e BT 3R 8km Telel! 8, &ME HSeh § SR 7km Tewel! §; PR 8 ¢ Gt § S7R 4km T g1 96 fpR A 1
3R 2km Tl 81 T8 AR Yd Bt 3R 4km Tl § TUT STE St § 3R B T g & forY 14km Tac 81 A, B I it R 82
A) O 13k
® 13km
(B) O 9km
9km
(C) O 6km
6km

(D) O 11km (Correct Answer) (Chosen option)
11km

Question No.5

In this question, a passage is given followed by a statement. Read the passage carefully and judge the statement based on the given pa:

Indonesia's tsunami has raised fears that another deadly wave could wipe out the few dozen Javan rhinos still living in the world. There are fewer t
species in Ujung Kulon National Park not far the volcano that triggered the killer wave. None of the animals are killed in the disaster — which left r
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officials are warning that another deadly wave could slam into the stricken region. That is putting pressure on conservati mg\/
a suitable secondary habitat for the rhinos. Plans to find a second home for the species have been in the works for abo
and neighboring Sumatra but so far without success.

The shy creature, whose folds of loose skin give it the appearance of wearing armor plating, once numbered in the thousands and roamed across
species across the world, poaching and human encroachment on its habitat has led to a dramatic population decline. The rhino horns are used in 1
ever higher prices on the black market despite a lack of scientific evidence showing the horn has any medicinal value.

Statement:
There are exactly 70 Javan rhinos still living in in Ujung Kulon National Park.

Choose the appropriate one from the following options
A - The statement is definitely true.

B - The statement is probably true.

C - The statement cannot be determined.

D - The statement is definitely false.

T UY H, TP Tl P 916 TP HU 301 74T | TR B! W | U 3R fOT 7T T & YR IR $YUF BT Tha He |

SR B G F PRI TG SATRIBT SIATS off 51 ¢ b T 3R ISP TG g1 & 3 T HIS[G PO Goi o1l 7S] BT AT PR el 5| ST G
e 8, 98T ¥ U8 AR® dex fo'R g8 df, g1 vk = U ¥ qravrg genfadl § § 70 ¥ +f w9 gonfaar €1 59 smuer & - foraw 400 § off &ifdew ar AR M
WW%@%%maﬁﬁW&ﬁvwwaﬂW%svﬁuhwn%mmmﬁﬁmmww%%éﬁ@%%qwm@
ST R dierel A B B | 37 Tl & 1T T gaT FHarg R @iei &1 ST IR 0T 316 98T & i =7et 361 8, Forad TRavaret o ik uek
TR 31d I IS FUhedl U e 83 2

T e R, forest gteft @ &1 tRd Tt e § o S Fag U 81, Ft ST ot T B g Rl Ul iR Y gfar-ud Uik § T R o
DI RE, TTP THAaN W 313y RBR 3R AT SAfIHHU & HRUT Aleh 1T U I 59! T § fR1ae o1 g1 S & Aivii o1 IuanT uRuRes TR
Wﬁﬁéﬁuﬁnwﬁ#mquaﬁ$w IR TR H B! §HRN 9 HAS PIAd gl St 7

DY
I FAH 1 T I & ondt o des 70 waTE AS W IR

7 fawetl & ¥ Iugad Th &1 799 |
A-FYE PRI ETIga R
B - YT THad: G 2
C - &Y &1 fAufRor 78) fvar o1 g 21
D - By g U ¥ 33 B
(A) O D (Correct Answer)

D

B)O A
A

(C) O C (Chosen option)
Cc

(DO B
B

Question No.6

Replace the question mark with an option that follows the same logic applied in the first pair.

28:30::49: ?
v g @1 39 fawed I ufonid &%, St Ugd g § @R ddh BT R0l el g

28:30::149: ?
(A) O 40
40

(B) O 41
41

(C) O 39 (Correct Answer) (Chosen option)
39

(D) O 38
38

Question No.7

In this question, relationship between different elements is shown in the statement. This statement is followed by two conclusions:

Statement:
C<H=<A=M>P>120>N

Conclusions:
HhH<M
i) >N

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow
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EXAM PREP
DHYA:

C<H=A=M>P>120>N

e
HH<M
i) 1 >N

frafaRad fawedl & & Sugad faswed g
(A) Fadt FIHY | SFTIRUT BT §

(B) Had fsHY i STERUI BT &

(C) T Y st | AT i SR Bl §
(D) 7 A e § =1 &Y i STERUT Rl §
(E) Frepef i 3R ii ST SRR R §
(A) O

B) 0O
(C)O

(D) O B (Correct Answer) (Chosen option)

wmw >> OO0 U0

Question No.8

Which of the following is a statement of a person who had died, explaining the circumstances of his death?
IS $IE Al Ut gg 31 U o1 FaTd U IR ST B, 39 ERM & 39 9919 ! Fafafed & 3 o Fg1 o 82
(A) O dying source

T HT DRI
(B) O death evidence

T GHT0T
(C) O death record

g &1 Repis
(D) O dying declaration (Correct Answer) (Chosen option)

YA

Question No.9

Replace the question mark with an option that follows the same logic applied in the first pair.
Dictate : Request :: Promulgate : ??
vy g @) 39 fAwe & 91y ged &l Ugd T | AR] ad $T & SRR BT 2|
Dictate : Request :: Promulgate : ??
(A) O Advertise
Advertise

(B) O Announce (Chosen option)
Announce

(C) O Publish
Publish

(D) O Hide (Correct Answer)
Hide

Question No.10

R is in the middle of a row where he is 7th from the right. What is the total number of persons in the row?
R U% Ufdd & T B § g 98 al¢ & 9rdd R W g1 dl Ufdd B $ fba afad g2
(A)O 4

4

(B)0O 10
10

(C) O 8 (Chosen option)
8

(D) O 13 (Correct Answer)
13

Question No.11

If the order of the English alphabet series is reversed, then which letter will be the tenth letter to the right of W?
e SISl quiATeT SRad & W &) Hehfid [T ora1 8, d W & a5 3R SHdl 31&R HH-91 §ITT?
A)O P

P

(B)O Q
Q

(C) O M (Correct Answer) (Chosen option)
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R

Question No.12

Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given series?

A A O (
+ +
<+ +
% & +* 4
O O A A
Al A @)
%+ <
+ <+ + ¥ ++? +
+ “ +
ot + * Ty !
+#+ + 4 4
O O Al O

A A O (
4 @
<+ < <+
*e + ¥ + ot
4 <+ + <+
+ + e
O |O Al (A
Al A @)
. 4+
<+ < +¥ ++¥ +
e + o
et +¥0 % +%. et
'0'#1- + 4 4
@) O Al O

(A) O 2 (Correct Answer) (Chosen option)
2

B)0 4
4

(C©)O 1
1
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Question No.13

In a certain code language,

'567' means 'cute pink kitty";
'754' means 'kitty is cute' and
'895' means 'a cute girl'.

Which of the following digits stands for 'kitty'?
T FAfYd pe Wi H,

'567' BT 31 B ‘cute pink kitty’;
754" T 31 § kitty is cute' 3R
'895' BT 31 § 'a cute girl’

frafefad o 3 for 3 &1 3l kitty' 82
(A) O g

B)O 6
6
(C) O 7 (Correct Answer) (Chosen option)

7
DO 8
8

Question No.14

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
I8 fawed g o fou T fasred! o Q U SRITTd ec/ARS/3HeR T g |
(A) O Ship (Correct Answer) (Chosen option)
Ship
(B) O Truck
Truck
(C) O Train
Train
(D) O Car
Car

Question No.15

If every alternate letter starting from the left end of the word SATISFACTION is written in capital letters, rest all are written in small letters, the new

letter will be eighth to the left of the letter fourth from the right?

& TeG SATISFACTION & ST BR I Y= 811 ATa TAD G 3R Pl T3 3HeRY (hfied ded) N forar Srar 8, 3R a1t Tt & B1e 31eRY (Wrd del

G FHTHd T STl §, T G & Y 31&R & a1¢ F 33T 3R DHIH-T g2
(A)O f
f

B)O O
O

(C) O n (Correct Answer)
n

(D) O c (Chosen option)
c

Question No.16

Who coined the term "Sanskritization" in Indian sociology?
YR JHSRIRE H " fbRur Wg fhem Ter?
(A) O AR Desai
TR, 318
(B) O M. N. Srinivas (Correct Answer) (Chosen option)
. T difar
(C) O G.S. Ghurye
Eikusheui
(D) O Louis Dumont

TE g

Question No.17

Which one of the following alternatives will perfectly complete the given figure?
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B)O
(C)O

A
A

(D) O

(Correct Answer) (Chosen option)

d
A
A
AN
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Question No.18

How many squares are there in the given figure?

fau e e & fopam i @2

(A) O 21
21

(B) O 20
20

(C)O 24
24

(D) O 25 (Correct Answer) (Chosen option)
25

Question No.19

How many odd numbers are there in the sequence which are immediately preceded by an even number?
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514739857263458635243496
(A) O four
IR
(B) O six (Chosen option)
EN
(C) O seven (Correct Answer)
|rd
(D) O five
Ll

Question No.20

Which of the following numbers in the Venn Diagram represents only cats and dogs region?

& arfa & Proffed & @ -8 e Fae R ok 391 ¥ 47 B i 3

0 O = Cats
W = DOogs
8

(A) O 30
(B) O 10
10
(C)O 8
8

(D) O 5 (Correct Answer) (Chosen option)
5

Question No.21

"NCMEI" stands for:
"NCMEI" &1 qUf &0 &1 82
(A) O National Council for Mother Empowerment Initiative
BIIRY BR HeR THIaRHS
(B) O National Children and Mother Enrichment Initiative
Agd fa A0S der TIRade

(C) O National Commission for Minority Educational Institutions (Correct Answer) (Chosen option)
ARET FHIRE BIR :

(D) O National Council for Medical Education Initiative
AR ISR BR AfSH TR

Question No.22

In a certain code language, if BREATH is coded as HTAERB, then how is BROKEN coded in that language?
% fAfyd He v &, af BREATH &Y HTAERB & U B Gede {3l STl 8, df BROKEN &1 It HTST & 35 Feds faar o 82
(A) O ORBNEK
ORBNEK
(B) O OBRENK
OBRENK
(C) O RBKONE
RBKONE

(D) O NEKORB (Correct Answer) (Chosen option)
NEKORB

Question No.23

A boy walks 20km towards West, turns right and walks 4km; turns left and walks 9km and reaches the destination. What is the distance travelled b
T ST U FY 3R 20km T 2, AT TdT § AR 4km T 2; A1 TS 2 3R Okm T 2 AR 7o I UgT 1 TS gR1 99 1 TE gt fobe
(A) O 36km

36km

(B) O 33km (Correct Answer) (Chosen option)
33km
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(D) O 38km
38km

Question No.24

Pointing to a man, a girl said, "He is the father-in-law of my brother's son's maternal grandmother's only daughter." How is the girl related to the me

T feR] Bt 3R T bR GU, Ueb TS A g, "d8, AR HIE &b S B 1 Bl gl S¢1 bl TR 81" TS bl 39 Al § o1 Ty 82
(A) O Sister
CRE
(B) O Granddaughter
PERCIGH
(C) O Niece
BIk|

(D) O Daughter (Correct Answer) (Chosen option)
&

Question No.25

A box containing the denominations of twenty five paise coins, fifty paise coins and two rupee coins amount to Rs.660. There are equal number of
value of two rupee coins in the box? (In Rs.)
T S B U= 09, 7ar 09 SR 1 U & gegari & R €, T 4o Rs.660 B 1 T Yegartf & Riaw! &t Sen 99 31 e § 1 IuU F Ry
(A) O 480 (Correct Answer) (Chosen option)

480

(B) O 490
490
(C) O 460
460
(D) O 470
470

Question No.26

All the persons in a row are facing North, A is 40th from right and B is 30th from the right. If A and B exchange the positions, what is the position of
the row?
% Ui & Tt afad SR @1 SR ST §, A g ¥ 4047 § 3TR B g1 ¥ 3097 §1 A% A 3R B 3M0¥ & M §Ead 8, @ a1 I A BT RIH HIH-31 g1
(A) O 28

28

B) O 29
29

(C) O 26 (Correct Answer) (Chosen option)
26

(D) O 30
30

Question No.27

In a dice, each face is numbered as follows:
1) 2 is opposite to 6
2) 3 is opposite to 5
3) 4 is opposite to 1
Which of the following is definitely false?
A) 4 is not adjacent to 3 and 5
B) 4 is adjacent to 5
C) 4 is adjacent to 6
D) 4 is adjacent to 3
TH I H, Ud® Bad &I 39 YHR THifad a1 11 8:
1) 6B faufid2s
2)5% faudid3 ®
1P fAudiaas
7 & B9 B g =0 3 3 32
A) 4, 3 3R 5 & Tfdbe TET 7
B) 4, 5% TfFde g
C)4,6F Ifapec s
D)4, 3 % Tfade &
(A)O C
C

B 0O B
B

(C) O A (Correct Answer) (Chosen option)
A

(D)o D
D
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Question No.28 BYJ U.S

) . . . . . ) . EXﬁ\M g’REP
If the first half of the word APPEARANCE is reversed, which of the following will be the sixth to the right of the third letter from the left end”

gfe APPEARANCE XTeg & Ul 1Y T &1 e Tid fobal STl &, o a1 BR & R 31&R & 315 3R I BT SH&R HIF-91 T2
(A) O C (Correct Answer)
c
B)O P
P
(C) O R (Chosen option)
R

(D)O N
N

Question No.29

What is the purpose of "Blue Notice", which is issued by Interpol?
SR gRI oIRY o AR 7 31ef 1 27
(A) O To help locate missing persons
YT SfeRTal BT Udl TR H Hag Bl
(B) O To seek information on unidentified bodies

3T TG BT THSRI a1

(C) O To seek or provide information on modus operandi used by criminals

SR GRT SUUNT H T a7l HRUIE TR SHBR T AT U el

(D) O To collect additional information about a person’s identity, location or activities in relation to a crime. (Correct Answer) (Chosen ¢

forelt sruvTy & Tey # 6 cafed @) ugame, == a1 wfafaftr & aR A sifafved SHeR) v fia s

Question No.30

What is the fullform of "CISF", a Central Armed Police Forces (CAPF)?
Th ST TR Yo 9 (Hrediuss), Hmseauss (CISF)" &1 guf & a1 872
(A) O Central Intelligence & Safeguarding Force (Chosen option)
q Aaséﬁﬁ;rqg@uﬂﬂ%rruﬂﬁ (Central Intelligence & Safeguarding Force)
(B) O Central Industrial Security Force (Correct Answer)
T “EWW Lo (Central Industrial Security Force)
(C) O Central Industrial Striking Force
J AFISS‘@TWI Eﬁv_ﬂqﬂﬁ (Central Industrial Striking Force)
(D) O Central Infrastructure Security Force
J ER AWWW (Central Infrastructure Security Force)

Question No.31

Find the next number in the series.
37,193, 327, 439, 529, ?
oft & SpTelt ST 1A B
37, 193, 327, 439, 529, ?
(A) O 596
596
(B) O 597 (Correct Answer) (Chosen option)
597
(C) O 59
594
(D) O 595
595

Question No.32

Find the next number in the series.
5,16, 51, 158, 481, ?
Suft 7 SATel TReAT T B
5, 16, 51, 158, 481, ?
(A) O 1452 (Correct Answer) (Chosen option)
1452
(B) O 1451
1451
(C) O 1453
1453
(D) O 1450
1450

Question No.33

Find the odd image out in the given series.
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(C) O 2 (Chosen option)

N

(D) O 3 (Correct Answer)
3

L K N
R w H
32 36 22 44
(1) (2) (3) (4)
& TS el B SR MBI 1 B
L K N
R w H
32 36 22 44
(1) (2) (3) (4)
(A) O 1
1
(B) O 4
4

m BYJU'S

Question No.34

Find the next term in the given series.
1,2,5,26,7?
&g goft A arTelt TRe Frd BT
1,2,5,26,7?
(A) O 677 (Correct Answer) (Chosen option)
677
(B) O 684
684
(C) O 636
636
(D) O 626
626

Question No.35

(A) O Sister

g
(B) O Nephew (Correct Answer)
(C) O Niece (Chosen option)

(D) O Brother

Vijay's only son Sivesh's mother Anandhi's sister Ambiga's mother is Amutha. How is Sivesh related to Ambiga?

F g o A% Y Of s Bt a5 it Bt At orgur 31 1A% H7 ST § 3T ey 72

Question No.36

Read the following statements and answer the following question.

M2N means M is the husband of N
M4N means M is the wife of N
M6N means M is the sister of N
M8N means M is the brother of N

In the equation P2Q6R6S, how is S related to P, if S is a female?

fafafad syt o ufeu ok Fafafed uy o1 W Al

M2N &1 31 & M, N $TUfd &
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M4N T 31 8 M, N &1 Tl § EBYJU'S

M6N T 31f 8 M, N 1§81 & EXAM PREP
M8N 3T 312 & M, N T 4TS §

TR P2Q6R6S H, TS S T ARRAT R, A S FT P | o1 Way 52
(A) O Cousin
HioH

(B) O Aunt
3fIc
(C) O Sister
Chal
(D) O Sister-in-la!v (Correct Answer) (Chosen option)

Rz saar

Question No.37

"Untouchability offences Act" was amended and renamed as :
"SRG SORTY AT & T=NeF frar T SR et A T T
(A) O National Reservation Act

1 T SRewr SifdfEH
(B) O National Untouchability Act (Chosen option)

31 19 gy
(C) O National Offences Act

1 T Ry SifAfEH
(D) O Protection of Civil Rights Act (Correct Answer)

SHRIPR T&r

Question No.38

Find the next term in the given series.
60, 90, 180, 450, ?
@ 7 AT H STl e F1d Hifor|
60, 90, 180, 450, ?
(A) O 1250
1250
(B) © 1300
1300
(C) O 1350 (Correct Answer) (Chosen option)
1350
(D) O 1200
1200

Question No.39

If U=90,Y =148,Z2=2,T=6,V = 4, then
U-ZxY+V+T=2?
TG U=00,Y=148,2=2,T=6,V=4,d
U-ZxY+V+T=?
(A) O 18
18
(B) O 40
40
(C)O 36
36

(D) O 22 (Correct Answer) (Chosen option)
22

Question No.40

Read the information carefully and answer the following question.

A+B means A is the father of B
A-B means A is the mother of B
A*B means A is the sister of B

A/B means A is the brother of B

In the given expression M/N*O+P, how is M related to O?
B e U R UY BT W S

A+BHT 3§ A, BHT U §
ABHTHITA BHIATY

ABHTfTA BPI T80
ABBTASEA BHTHS S

U T o/ MIN*O+P B, M &7 0 I 37 WY g2
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A) O Fﬂ%t?er m BYJU’'S

EXAM PREP
(B) O Brother (Correct Answer)

(C) O Sister (Chosen option)
CRE

(D) O Mother
At
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